
Slip line net work in this problem (Fig. 1)can be drawn as 
shown in Fig.2.

From Fig.3,  at the point A, sA = -cu     (1)
At the point B, the direction of major principal stress is h
from the vertical and the angle between stress s3 and sa is 
m, and m=h.    

From the Mohr’s stress circle at the point B (Fig.3),.

and sB= sa+cu cos2m (3)  

The rotation of the b slip line from A to B is m. 
The change of stress from sA to sB along the b slip line AB 
is given by Eq. (7.40).

sB – sA =-2cum+gz    (4) 

Hence from eqs.(1) to (4)

Horizontal and vertical components of the active force are 
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